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gm_mÝ` {ZX}e : 

(i) 1 A§H$ dmbo àíZm| Ho$ CÎma EH$ eãX go EH$ dmŠ` VH$ hm| & 

(ii) 3 A§H$m| dmbo àíZm| Ho$ CÎma 50 – 75 eãXm| Ho$ hm| & 

(iii) 4 – 5 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 150 eãXm| Ho$ hm| & 

(iv) 6 A§H$m| dmbo àíZm| Ho$ CÎma bJ^J 200 eãXm| Ho$ hm| & 

(v) EH$ àíZ Ho$ g^r ^mJ gmW-gmW hr hb H$s{OE &  

General Instructions : 

(i) Answers to questions carrying 1 mark may be from one word to one 

sentence. 

(ii) Answers to questions carrying 3 marks may be from 50 – 75 words. 

(iii) Answers to questions carrying 4 – 5  marks may be about 150 words. 

(iv) Answers to questions carrying 6 marks may be about 200 words. 

(v) Attempt all parts of a question together. 

1. {Z ẁ{º$H$aU {H$g àH$ma H$_©Mm[a`m| H$s H$m`© g§Vw{ï> Ed§ _Zmo~b _| gwYma H$aVm h¡ ? C„oI 

H$s{OE & 1 

How does staffing improve job satisfaction and morale of employees ? 

State. 

2. {ZX}eZ {H«$`m H$mo H¡$go àma§^> H$aVm h¡ ? C„oI H$s{OE & 1 

How does directing initiate action ? State. 

3. J¡a-{dÎmr` àmoËgmhZ Ho$ ê$n _| ‘H$_©Mmar nhMmZ’ Ho$ H$moB© Xmo CXmhaU Xr{OE & 1 

Give any two examples of ‘Employee Recognition’ as a non-financial 

incentive. 

4. {Z §̀ÌU H$s à{H«$`m _| ‘AndmX Ûmam à~ÝY’ go Š`m A{^àm` h¡ ? 1 

What is meant by ‘Management by Exception’ in the process of 

controlling ?  

5. {H$g àH$ma Ho$ CËnmXm| na ISI {M• H$m à`moJ {H$`m OmVm h¡ ? 1 
On which type of products is ISI mark used ? 
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6. ‘Cn^moº$m H$m EH$ A{YH$ma h¡ kmZ àmá H$aZm VWm OrdZn`©ÝV EH$ AÀN>m AdJV Cn^moº$m 

~Zo ahZm &’ 

 Cnamoº$ C{„{IV ‘A{YH$ma’ _| Cn^moº$m H$mo {H$g àH$ma Ho$ kmZ H$s Amdí`H$Vm h¡, C„oI 

H$s{OE &  1 

‘The consumer has a right to acquire knowledge and to be a well informed 

consumer throughout life.’ 

State what type of knowledge is required by the consumer in the above 

stated ‘Right’. 

7. à~§Y Ho$ Cg ñVa H$m Zm_ Xr{OE Omo g§JR>Z Ho$ H$ë`mU Ed§ {Za§VaVm Ho$ {bE CÎmaXm`r 
hmoVm h¡ & 1 
Name the level of management that is responsible for the welfare and 

survival of the organisation. 

8. `h Š`m| H$hm OmVm h¡ {H$ ì`mdgm{`H$ n`m©daU A{ZpíMV hmoVm h¡ ? 1 
Why is it said that business environment is uncertain ? 

9. ‘nhbo go `h {ZpíM` H$aZm {H$ Š`m H$aZm h¡ VWm H¡$go H$aZm h¡ à~§Y Ho$ AmYma^yV H$m`m] 
_| go EH$ h¡ &’ Bg H$m`© H$m AW© ~VmBE & 1 
‘Deciding in advance what to do and how to do is one of the basic 

management functions.’ Give the meaning of this function. 

10. {Z`moOZ Ho$ Cg àH$ma H$m Zm_ ~VmBE Omo gm_mÝ` H$WZm| Ho$ ê$n _| hmoVr h¡, {dMmam| H$mo 
EH$ {d{eï> {Xem H$s Amoa {ZoX}{eV H$aVr h¡ Am¡a X¡{ZH$ g_ñ`mAm| Ho$ g_mYmZ _| ghm`Vm 
H$aVr h¡ & 1 
Name the type of plan which is in the form of general statements, that 

guides thinking towards a particular direction and helps in solving 

routine problems. 

11. ‘aMZm’ Ho$ AmYma na H$m`m©Ë_H$ g§JR>Z VWm à^mJr` g§JR>Z _| AÝVa H$r{OE & 1 

Distinguish between functional structure and divisional structure on the 

basis of ‘formation’. 

12. ‘Am¡nMm[aH$ g§JR>Z’ go Š`m A{^àm` h¡ ? 1 

What is meant by ‘formal organisation’ ? 
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13. _wÐm ~mµOma Ho$ {ZåZ{b{IV ànÌm| H$m AW© ~VmBE : 3 

(i) Ðì` ~mµOma ànÌ; VWm 
(ii) erK«md{Y Ðì` & 
Give the meaning of the following money market instruments : 

(i) Treasury Bill; and 

(ii) Call Money. 

14. {dÎmr` à~§Y H$m àmW{_H$ CÔoí` ‘YZ H$mo A{YH$V_ H$aZm’ h¡ & g_PmBE & 3 
‘Wealth-maximisation’ is the primary objective of financial management. 

Explain.  

15. ‘`{X Amn XrK©-Ad{Y Ho$ {bE EH$ g\$b CÚ_ MmhVo h¢ Vmo Amn EH$ {dH«$` H$mo ~§X Zht 
H$aVo A{nVw EH$ gå~ÝY H$mo Omo‹S>Vo h¢ &’ {dnUZH$Vm© Ûmam à`moJ _| bmB© JB© gåàofU 

VH$ZrH$ H$mo nhMm{ZE & Bg gåàofU VH$ZrH$ H$s {H$Ýht Xmo {deofVmAm| H$m ^r C„oI 

H$s{OE & 3 
‘You don’t close a sale, you open a relationship, if you want to build a 

long-term successful enterprise.’ Identify the communication tool used by 

the marketer. State any two features of this communication tool. 

 

16. ndZ gr E\$ Eb {b{_Q>oS> _| ‘CËnmXZ à~ÝYH$’ Ho$ ê$n _| H$m`© H$a ahm h¡ Omo gr E\$ Eb 
~ë~ ~ZmZo H$m H$m`© H$aVr h¡ & à~ÝYH$m| d H$_©Mm[a`m| Ho$ ~rM dhm± H$moB© dJ© ^oX Zht h¡ & 
H$m`© H$s XemE± ~hþV hr AÀN>r h¢ & H$ånZr AË`{YH$ bm^ A{O©V H$a ahr h¡ & AnZr 
Zr{V`m| Ho$ AZwgma à~ÝYH$ bm^m| H$m ~±Q>dmam H$_©Mm[a`m| Ho$ gmW H$a aho h¢ Š`m|{H$ CZH$m 
{dídmg h¡ {H$ H$_©Mm[a`m| H$s g_¥{Õ Ho$ {~Zm H$ånZr H$s g_¥{Õ bå~o g_` VH$ Zht Mb 
gH$Vr &  
(a) Cnamoº$ AZwÀN>oX _| d{U©V à~ÝY Ho$ {gÕmÝV H$m C„oI H$s{OE & 

(b) {H$Ýht Xmo _yë`m| H$mo nhMm{ZE Omo H$ånZr g_mO H$mo gåào{fV H$aZm MmhVr h¡ & 3 

Pawan is working as a ‘Production Manager’ in CFL Ltd. engaged in 

manufacturing of CFL bulbs. There is no class-conflict between the 

management and workers. The working conditions are very good. The 

company is earning huge profits. As a policy matter, management is 

sharing the gains with the workers because they believe that prosperity 

of the company cannot exist for a long time without the prosperity of the 

employees. 

(a) State the principle of management described in the above para. 

(b) Identify any two values which the company wants to communicate 

to the society. 
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17. ßbmpñQ>H$ \$mBbm| Ed§ \$moëS>am| Ho$ à`moJ H$mo H$_ H$aZo Ho$ {bE Q>oëH$mo {b{_Q>oS> nwamZo H$n‹S>m| 

go \$mBb| Ed§ \$moëS>a ~Zm ahr h¡ & BgHo$ {bE CÝhmo§Zo nmg Ho$ Eogo Jm±dm| go bmoJm| H$mo H$m_ 
na {Z ẁº$ {H$`m Ohm± ~hþV H$_ H$m_ Ho$ Adga CnbãY h¢ & EH$ H$_©Mmar hare Zo bmJV 

H$mo H$_ H$aZo H$s EH$ `moOZm H$s ê$naoIm ~ZmB© {Ogo CËnmXZ à~ÝYH$ Zo A{^ZpÝXV Zht 

{H$`m & EH$ Am¡a H$_©Mmar Zo {S>µOmBZ _| gwYma Ho$ {bE Hw$N> gwPmd {XE bo{H$Z CËnmXZ 
à~§YH$ Ûmam BgH$s ^r àe§gm Zht H$s JB© &  

(a) Cnamoº$ AZwÀN>oX _| d{U©V à~§Y Ho$ {gÕmÝV H$m C„oI H$s{OE & 

(b) Eogo Xmo _yë`m| H$mo nhMm{ZE Omo H$ånZr g_mO H$mo gåào{fV H$aZm MmhVr h¡ & 3 

Telco Ltd. is manufacturing files and folders from the old clothes to 

discourage use of plastic files and folers. For this they employ people from 

nearby villages where very less job opportunities are available. An 

employee, Harish, designed a plan for the cost reduction but it was not 

welcomed by the production manager. Another employee gave some 

suggestion for improvement in design, but it was also not appreciated by 

the production manager. 

(a) State the principle of management described in the above para. 

(b) Identify any two values that the company wants to communicate to 

the society. 

18. ‘{Zdoe {ZU©`’ Ed§ ‘bm^m§e {ZU©`’ H$m AW© ~VmBE & 3 

Give the meaning of ‘Investment decision’ and ‘Dividend decision’. 

19. ‘g_Ýd` à~ÝY H$m gma h¡ &’ g_PmBE H¡$go & 4 

 ‘Coordination is the essence of management.’ Explain how. 

20. ‘ì`dgm` Ho$ à~§YH$m| Ûmam n`m©daU H$s g_P CÝh| Z Ho$db AnZr \$_© H$s ~mø e{º$`m| 
H$s nhMmZ Ed§ _yë`m§H$Z _| ghm`Vm H$aVr h¡ A{nVw CZHo$ à{V à{V{H«$`m ì`º$ H$aZo _| ^r 

ghm`Vm H$aVr h¡ &’ Bg H$WZ Ho$ g§X^© _| ì`mdgm{`H$ n`m©daU Ho$ _hÎd Ho$ {H$Ýht Mma 
{~ÝXþAm| H$mo g_PmBE & 4 
‘Understanding of environment by business managers enables them not 

only to identify and evaluate, but also to react to the forces external to 

their firms.’ In the light of the statement, explain any four points of 

importance of business environment. 
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21. {Z`moOZ {H$g àH$ma ‘n[adV©Zerb dmVmdaU _| à^mdr Zht ahVm’ VWm ‘g\$bVm H$m 
AmídmgZ Zht XoVm’ ? g_PmBE & 4 
How does Planning ‘Not work in a dynamic environment’ and ‘Does not 

guarantee success’ ? Explain. 

22. EH$ Cn^moº$m H$mo Cn^moº$m g§ajU A{Y{Z`_, 1986 Ho$ AÝVJ©V CnbãY {H$Ýht AmR> 
amhVm| H$m C„oI H$s{OE &  4 

State any eight reliefs available to a consumer under the provisions of 

Consumer Protection Act, 1986. 

23. ‘à{ejU’ H$m Š`m AW© h¡ ? EH$ H$_©Mmar Ho$ {bE à{ejU Ho$ bm^m| H$m C„oI H$s{OE & 5 

What is meant by ‘Training’ ? State the benefits of training to the 

employee. 

24. {Z`moOZ VWm {Z`ÝÌU Ho$ gå~ÝY H$mo g_PmBE & 5 

Explain the relationship between planning and controlling. 

25. ñH$ÝY {dn{U (eo`a ~mµOma) Ho$ {H$Ýht nm±M H$m`m] H$m dU©Z H$s{OE & 5 

Explain any five functions of Stock Exchange. 

26. ‘{dkmnZ’ H$m Š`m AW© h¡ ? {dnUZ _| {dkmnZ H$s ^y{_H$m H$m C„oI H$s{OE & 5 

What is meant by ‘advertising’ ? State the role of advertising in 

marketing. 

27. g_PmBE {H$ EH$ ì`dgm` H$s H$m`©erb ny±Or Amdí`H$VmAm| H$mo {ZåZ{b{IV H$maH$ {H$g 
àH$ma à^m{dV H$aVo h¢ :  6 

(i) _wÐm ñ\$s{V; 

(ii) ì`mdgm{`H$ MH«$; 

(iii) à{VñnYm© H$m ñVa; VWm $  

(iv) ì`dgm` H$s àH¥${V &$ 

                        AWdm 

 EH$ H$ånZr H$s ny±Or g§aMZm Ho$ M`Z H$mo à^m{dV H$aZo dmbo {H$Ýht Mma H$maH$m| H$mo 
g_PmBE & 
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Explain how the following factors affect the working capital requirements 

of a business : 

(i) Inflation; 

(ii) Business cycle;  

(iii) Level of competition; and   

(iv) Nature of business.  

                             OR 

Explain any four factors affecting the choice of capital structure of a 

company. 

28. CËnmXm| VWm godmAm| Ho$ àdV©Z _| ‘OZ g§nH©$’  H$s ^y{_H$m H$m dU©Z H$s{OE & 6 

    AWdm  

 {dnUZ {_l Ho$ Mma _hÎdnyU© VÎdm| H$mo g_PmBE & 
Describe the role of ‘Public Relations’ in the promotion of products and 

services. 

    OR 

Explain the four important elements of marketing mix. 

29. ‘à^mdr à~§Y’ VWm ‘H$_©Mm[a`m| H$m {dH$mg’ Ho$ A{V[aº$, A§VaU g§JR>Z H$s {d{^Þ VarH$m| 
go ghm`Vm H$aVm h¡ & Eogo {H$Ýht Mma VarH$m| H$m dU©Z H$s{OE & 6  

AWdm 

 ‘{dHo$ÝÐrH$aU EH$ _hÎdnyU© _mÝ`Vm h¡ VWm Ho$db Mw{ZÝXm A{YH$mam| Ho$ A§VaU _| hr 

AnZmB© OmVr h¡ &’ Bg H$WZ Ho$ g§X^© _| {dHo$ÝÐrH$aU Ho$ _hÎd Ho$ {H$Ýht Mma {~ÝXþAm| H$m 

dU©Z H$s{OE & 

Besides ‘Effective management’ and ‘Employee development’ delegation 

helps the organisation in different ways. Explain any four such ways. 

OR 

‘Decentralisation is an important philosophy that implies selective 

dispersal of authority.’ In the light of this statement, explain any four 

points of importance of decentralisation. 
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30. ‘{H$gr g§ñWm Ho$ {bE n`©dojH$ H$m H$m`© VWm {ZînmXZ AË`§V _hÎdnyU© h¡ Š`m|{H$ dh 

àË`j ê$n go l{_H$m| Ho$ gmW Ow‹S>m hþAm h¡ O~{H$ AÝ` à~§YH$m| H$m {ZMbo ñVa na H$m ©̀ 
H$a aho H$_©Mm[a`m| Ho$ gmW H$moB© àË`j g§nH©$ Zht hmoVm &’ Bg H$WZ Ho$ g§X^© _| EH$ 

n`©dojH$ Ho$ {H$Ýht Mma H$m`m] H$m dU©Z H$s{OE &  6 

AWdm 

 à^mdr g§àofU H$s ì`{º$JV ~mYmAm| H$m dU©Z H$s{OE & 
‘The functions and performance of the supervisor are vital to an 

organisation because he is directly related with the workers whereas 

other managers have no direct touch with bottom level workers.’ In the 

light of this statement, explain any four functions of a supervisor. 

OR 

Describe personal barriers to effective communication. 
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66/3 

MARKING SCHEME – 2013-14 

BUSINESS STUDIES 

OUTSIDE DELHI COMPTT– 66/3 

EXPECTED ANSWERS / VALUE POINTS 

DISTRIBUTION 

OF MARKS 

7 6 1 Q.  How does staffing improve job satisfaction and 

morale of employees? State. 

Ans. Staffing improves job satisfaction and morale of 

employees through objective assessment and fair reward for 

their contribution. 

1 mark 

8 5 2 Q. How does directing initiate action? State. 

Ans. Other functions prepare a setting for action, directing 

implements it in the organisation.  

1 mark 

9 4 3 Q.  Give any two examples of ‘Employee Recognition’ as 

a non financial incentive. 

Ans. Examples of ‘Employee Recognition’ as a non 

financial incentive are: 

(i) Congratulating the employee for good performance. 

(ii) Installing award or certificate for best performance. 

(iii) Displaying on the notice board or in the newsletter 

about the achievement of the employee. 

(iv) Distributing momentos or complimentaries in 

recognition of employee’s services. 

(v) Rewarding an employee for valuable suggestions. 

(or any other correct example) 

(or any other correct example) 

 

½ x 2 

=1 mark 

10 3 4 Q.  What is meant by ‘Management by Exception’ in the 

process of controlling? 

Ans. Management by Exception in the process of controlling 

means that only significant deviations which go beyond the 

permissible limit should be brought to the notice of the 

management. 

OR 

Management by Exception in the process of controlling 

means that an attempt to control everything results in 

controlling nothing. 

 

 

 

 

1 mark 

11 2 5 Q.  On which type of products is ISI mark used? 

Ans. Electrical goods. 

1 mark 

 

12 1 6 Q. ‘The consumer has the right to acquire knowledge 

and to be a well informed consumer throughout life.’ 

State what type of knowledge is required by the 

consumer in the above stated ‘Right’. 

Ans. In the above stated right, i.e. Right to Consumer 

Education, a consumer should know about the rights and 

reliefs available to him in case a product or service falls 

short of his expectations. 

1 mark 
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1 12 7 Q.  Name the level of management that is responsible for 

the welfare and survival of the organisation. 

Ans. Top level. 

1 mark 

2 11 8 Q.  Why is it said that business environment is 

uncertain? 

Ans. It is said that business environment is uncertain 

because it is difficult to predict future happenings especially 

when environment changes are taking place too frequently. 

1 mark 

 

3 10 9 Q. ‘Deciding in advance what to do and how to do is one 

of the basic management functions.’ Give the meaning of 

this function. 

Ans.  Planning is the function being referred to. 

Planning means setting objectives for a given time period, 

formulating various courses of action to achieve them and 

then selecting the best possible alternative from among the 

various courses of action available. 

(or any other correct meaning) 

1 mark 

 

4 9 10 Q. Name the type of plan which is in the form of general 

statements, that guides thinking towards a particular 

direction and helps in solving routine problems. 

Ans. Policy 

1 mark 

5 8 11 Q.  Distinguish between functional structure and 

divisional structure on the basis of ‘formation’. 

Ans. Functional structure is formed on the basis of functions 

while divisional structure is formed on the basis of product 

lines supported by functions. 

1 mark 

6 7 12 Q.  What is meant by ‘formal organisation’?  

Ans. Formal organisation refers to the organisation structure 

which is designed by the management to accomplish a 

particular task. 

(or any other correct definition) 

1 mark 

 

17 14 13 Q.  Give the meaning of the following money market 

instruments: 

(i) Treasury bill; and  

(ii) Call money. 

Ans. (i)Treasury bill 

It is an instrument issued by Reserve Bank of India on 

behalf of the Central government to meet its short term 

requirements of funds. It is highly liquid, has an assured 

yield and negligible risk of default. 

(b) Call Money  

It is the method by which banks borrow from each other to 

be able to maintain the cash reserve ratio.  It is repayable on 

demand, with a maturity period of one day to fifteen days.     

 

 

1 ½ + 1 ½  

= 

 

3 marks 

15 16 14 Q. ‘Wealth maximization’ is the primary objective of 

financial management. Explain. 

 

3 marks 
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Ans. Wealth maximisation is the primary objective of 

financial management which means maximising the market 

value of investment in the shares of the company. It is 

possible only by: 

(i) Ensuring availability of sufficient funds at reasonable 

cost. 

(ii) Ensuring effective utilization of funds. 

(iii) Ensuring safety of funds by creating reserves, re-

investment of profits etc. 

18 13 15 Q. ‘You don’t close a sale, you open a relationship, if you 

want to build a long term successful enterprise.’ Identify 

the communication tool used by the marketer. State any 

two features of this communication tool. 

Ans. Personal selling. 

Features of personal selling are: 

(i) It involves a direct face to face dialogue. 

(ii) It allows salespersons to develop personal relationships 

with prospective customers. 

 

1 mark for 

identification 

+ 

1 mark for 

each statement 

=1x2 

2 marks 

=1+2 

3marks 

13 18 16 Q.  Pawan is working as a ‘production manager’ in CFL 

Ltd. engaged in manufacturing of CFL bulbs. There is 

no class conflict between the management and workers. 

The working conditions are very good. The company is 

earning huge profits. As a policy matter, management is 

sharing the gains with the workers because they believe 

that prosperity of the company cannot exist for a long 

time without the prosperity of the employees. 

(a) State the principle of management described in the 

above para. 

(b) Identify any two values which the company wants to 

communicate to the society. 

Ans. (a) Harmony not discord which advocates that there 

should be complete harmony between management and the 

workers. To achieve this, Taylor called for a complete 

mental revolution on the part of both management and 

workers. 

(b) Values which the company wants to communicate to the 

society are: 

(i) Sensitivity towards the environment. 

(ii) Good behaviour in human interaction. 

(or any other correct value) 

 ½ mark for 

identifi 

cation 

+ 

½ mark for the 

statement 

= ½ + ½  

= 1 mark 

+ 

1 mark for 

each value 

= 1 x 2 

=2marks 

= 1+2 

3marks 

14 17 17 Q.  Telco Ltd. is manufacturing files and folders from 

old clothes to discourage use of plastic files and folders. 

For this, they employ people from nearby villages where 

very less job opportunities are available. An employee, 

Harish, designed a plan for cost reduction but it was not 

 ½ mark for 

identifi 

cation 

+ 

½ mark for the 
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welcomed by the production manager. Another employee 

gave some suggestion for improvement in design, but it 

was also not appreciated by the production manager. 

(a) State the principle of management described in the 

above para. 

(b) Identify any two values that the company wants to 

communicate to the society. 

Ans. (a) Initiative. It means eagerness to initiate action 

without being asked to do so.   

(b) Values which the company wants to communicate to the 

society are: 

(i) Sensitivity towards the environment. 

(ii) Creation of job opportunities. 

(iii) Development of backward regions. 

(or any other correct value) 

statement 

= ½ + ½  

= 1 mark 

+ 

1 mark for 

each value 

= 1 x 2 

=2marks 

= 1+2 

3marks 

16 15 18 Q. Give the meaning of ‘Investment decision’ and 

‘Dividend decision’. 

Ans. Investment decision involves deciding about how the 

funds are invested in different assets so that they are able to 

earn the highest possible return for their investors. 

 Dividend decision involves deciding about how much of 

profit earned by the company is to be distributed to the 

shareholders and how much of it should be retained in the 

business. 

 

 

 

1 ½ + 1 ½  

= 

 

3 marks 

- - 19 ‘Coordination is the essence of management.’ Explain 

how. 

Ans. Co-ordination is not a separate function of management. 

It is the force that binds all other functions and thus called 

the essence of management. 

 The process of coordinating the activities begins at the 

planning stage in which the top management plans for the 

entire organization. 

 At the organizing stage, the organizational structure is 

developed as per plans. 

 The staffing function is performed thereafter as per the 

structure developed in the organization structure. 

 Directing is then required to ensure that these plans are 

executed accordingly. 

 Controlling function ensures that the discrepancies 

between actual and planned activities are taken care of. 

Coordination, therefore, synchronises the efforts through all 

functions of management and ensures that the organizational 

objectives are achieved with a minimum of conflict. 

 

 

 

 

 

=4 marks 
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- - 20 Q. ‘ Understanding of environment by business 

managers enables them not only to identify and evaluate, 

but also to react to the forces external to their firms.’ In 

light of the statement, explain any four points of 

importance of business  environment. 

Ans. Importance of business  environment(any four): 

(i) Identify opportunities and get first mover advantage 

(ii) Identify threats and early warning signals 

(iii) Tap useful resources 

(iv) Assist in planning and policy formulation 

(v) Help in coping with rapid changes 

(vi) Help in improving performance 

(If an examinee has not given the headings as above but 

has given the correct explanations, full credit should be 

given) 

 

 

 

 

 

 

½ mark for 

heading  

+  

½ mark for 

explanation  

= 1x4 

 

= 4 marks 

- - 21 How does planning ’Not work in a dynamic 

environment’ and ‘Does not guarantee success’? Explain. 

Ans. ‘Planning may not work in a dynamic environment’ 

 The business environment is dynamic. The 

organization has to constantly adapt itself to changes 

in environment by making changes in its plans. 

 Planning cannot foresee accurately changes in the 

environment and, thus, there may be obstacles to 

effective planning. 

‘Planning does not guarantee success’ 

 Managers have a tendency to rely on previously tried 

and tested plans. But a plan that has worked before 

may not work again. 

 While planning, many unknown factors have to be 

considered. The false of security created by planning 

may actually lead to failure instead of success. 

 

 

 

 

 

2 marks 

 

 

 

 

 

 

 

2 marks 

 

= 2+2 

= 4 marks 

- - 22 Q. State any eight reliefs available to a consumer under 

the provisions of Consumer Protection Act, 1986. 

Ans. Reliefs available to a consumer under the provisions of 

Consumer Protection Act, 1986. 

(i)To remove the defect in goods or the deficiency in 

service.  

(ii) To replace the defective product with a new one, free 

from any defect. 

(iii) To refund the price paid for the product. 

(iv) To pay a reasonable amount of compensation for any 

loss or injury suffered by the consumer due to negligence of 

the opposite party. 

(v) To pay punitive damages in appropriate circumstances. 

 

 

 

½  mark for 

each relief 

= ½ x 8 

 

=4 marks 
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(vi) To discontinue the unfair/ restrictive trade practice and 

not to repeat the same in future. 

(vii) Not to offer hazardous goods for sale. 

(viii) To withdraw hazardous goods from sale. 

(ix) To cease manufacture of hazardous goods. 

(x) To pay any amount (not less than 5% of the value of the 

defective goods to be credited to the Consumer Welfare 

Fund or any other organisation/person, to be utilised in the 

prescribed manner. 

(xi) To issue corrective advertisement to neutralize the effect 

of misleading advertisement. 

(xii) To pay adequate costs to the appropriate party. 

 

- - 23 Q. What is meant by ‘Training’? State the benefits of 

training to the employee. 

Ans. Meaning of Training  

Training means the process by which attitudes, skills and 

abilities of employees to perform specific jobs are increased.  

 

Benefits of training to the employee. (Any four): 

(i) It helps in promotion and career growth. 

(ii) It helps him to earn more. 

(iii) It reduces accidents. 

(iv) It increases the morale of the employees 

(v) It provides better employment opportunities 

(If an examinee has given only the heading, ½ mark for 

the heading should be awarded) 

 

 

 

1 mark for  

the meaning 

 

+ 

 

1 mark for 

each benefit 

=1 x 4 

= 4 marks 

= 1+4 

= 5 marks 

- - 24 Q. Explain the relationship between planning and 

controlling. 

Ans. Planning and controlling are mutually interrelated and 

interdependent activities because:  
1. Controlling takes place on the basis of standards 

developed by planning;  

2. Planning without controlling is meaningless as controlling 

ensures that the events conform to the plans. 

3. Planning prescribes an appropriate course of action for 

achieving objectives whereas controlling evaluates whether 

decisions have been translated into desired actions. 

4. Planning and controlling both are forward looking 

5. Planning and controlling are both looking back. 

(Note: If the answer covers the above points in any other 

form, full credit should be given) 

 

 

 

 

 

 

 

   5 marks 

- - 25 Explain any five functions of Stock Exchange. 

Ans. Functions of Stock Exchange( any five): 

(i) Provides liquidity and marketability to existing securities 
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(ii) Determines price of securities 

(iii) Ensures safety of transactions 

(iv) Contributes to economic growth 

(v) Spreads Equity cult 

(vi) Provides scope for speculation 

(If an examinee has not given the headings as above but 

has given the correct explanations, full credit should be 

given) 

 ½ mark for 

heading  

+  

½ mark for 

explanation  

  

 

  = 1x5 

   = 5 marks 

- - 26 What is meant by ‘advertising’? State the role of 

advertising in marketing. 

Ans. Meaning of advertising 

Advertising is the paid form of non-personal communication 

about a product by an identified sponser.  
 
Role of advertising in marketing( any four): 

(i)  Advertising  helps to create demand by informing the 

prospective customers about the product. 

(ii)  It provides economies of scale as increased demand 

leads to higher production. 

(iii)  It educates consumers by informing about the 

availability of different products in the market. 

(iv)  It generates employment by creating various kinds of 

jobs to artists, script writers,etc . 

(v)  It improves standard of living by giving information 

regarding new products and increasing income levels of 

people. 

(vi)  It sustains the media by acting as a source of revenue. 

(If an examinee has given only the heading, ½ mark for 

the heading should be awarded) 

 

 

 

 

 

 

1 mark 

+ 

 

 

 

1 mark for 

each point 

=1 x 4 

= 4 marks 

 

 

 

 

 

 

= 1 +4 marks 

=5 marks 

29 28 27 Q.  Explain how the following factors affect the working 

capital requirements of a business: 

(i)  Inflation 

(ii)  Business cycle 

(iii)  Level of competition; and  

(iv)  Nature of business 

Ans. Factors affecting the requirements of working capital: 

(i) Inflation 

During inflation, larger working capital is required to 

maintain a constant volume of production and sales. 

(ii) Business cycle 

In case of boom, larger working capital is required as the 

sales and production are more. 

 

 

 

 

 

 

 

 

1 ½ x 4 

= 

6 marks 
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(iii) Level of competition 

Higher competition requires larger stocks to meet urgent 

orders from customers and thus higher working capital. 

 (iv)  Nature of business 

Trading organisations require lesser working capital than 

manufacturing organisations as there is no processing 

involved; service industries require the least working capital 

as they do not have to maintain inventory. 

 

OR 

 

Q.  Explain any four factors affecting the choice of 

capital structure of a company: 

Ans.  

Ans. Following are the factors affecting the choice of capital 

structure of a company: (any four) 

1. Cash flow position 

2. Interest coverage ratio  

3. Debt service coverage Ratio  

4. Return on Investment 

5. Cost of debt 

6. Tax rate 

7. Cost of equity 

8. Floatation costs 

9. Cost 

10. Fixed operating costs 

11. Risk consideration 

12. Flexibility 

13. Control 

14. Regulatory framework 

15. Stock market conditions 

16. Capital structure of other companies 

(If an examinee has not given the headings as above but 

has given the correct explanations, full credit should be 

given) 

 

 

 

 

 

 

 

 

 

 

 

OR 

 

½ mark for 

heading  

+ 1 mark  

for explanation 

= 1 ½ x 4 

= 

6marks 

 

 

 

 

 

 

 

 

 

 

 

30 27 28 Q.  Describe the role of ‘Public Relations’ in the 

promotion of products and services. 

Ans. Role of Public Relations in the promotion of products 

and services: (Any four) 

 (i) Press Relations. 

(ii) Product Publicity. 

(iii) Corporate Communication. 

(iv) Lobbying. 

(v) Counselling. 

 

½ mark for 

each heading 

+ 

1  mark for 

each 

explanation 

= 1 ½  x 4 

= 
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(If an examinee has not given the headings but has given 

the correct explanation, full credit should be given) 

 

OR 

Role of Public Relations in the promotion of products and 

services: 

 (i) Smooth functioning of business. 

(ii) Image building. 

(iii) Launching new products. 

(iv) Helps in facing adverse publicity.  

(v) Supplement to advertising. 

(vi) Satisfying interest of different public groups. 

(If an examinee has not given the headings but has given 

the correct explanation, full credit should be given) 

 

 

OR 

 

Q.  Explain the four important elements of marketing 

mix. 

Ans. The four important elements of marketing mix are: 

(i) Product mix (ii) Price mix, (iii) Place mix, and (iv) 

Promotion mix. 

1. Product Mix:  

Product mix relates to decisions regarding planning, 

developing and producing the right type of products and 

services for the consumers. 

It includes branding, labelling, trademark and packaging. 

2. Price Mix:  

Price Mix involves different Pricing Methods, Pricing 

strategies, Pricing Policies and Price Changes. 

3. Place Mix: 

Place or Physical Distribution mix includes activities that 

make firm’s products available to the target customers. It 

consists of all the activities involved in transferring 

ownership and physical possession of the product to the 

consumers. 

4. Promotion Mix:  

Promotion mix consists of all the activities aimed at 

persuading customers to buy the product through 

advertising, personal selling, sales promotion and publicity. 

 

 

6marks 

 

 

 

OR 

 

 

½ mark for 

each heading 

+ 

1 mark for 

each 

explanation 

= 1 ½ x 4 

= 

 

 

 

6marks. 

27 29 29 Q.  Besides ‘Effective management’ and ‘Employee 

development’, delegation helps the organisation in 

different ways. Explain any four such ways. 

½ mark for 

heading  

+ 1 mark  
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Ans. Besides ‘Effective management’ and ‘Employee 

development’, delegation helps the organisation in:  

(i) Motivation of employees. 

(ii) Facilitation of growth. 

(iii) Better co-ordination. 

(iv) Creation of management hierarchy. 

(if an examinee has not given the headings as above but 

has given the correct explanation, full credit should be 

given) 

 

 

Or 

Q. ‘Decentralisation is an important philosophy that 

implies selective dispersal of authority.’ In the light of 

this statement, explain any four points of importance of 

decentralization. 

Ans. Decentralisation is an important philosophy that 

implies selective dispersal of authority.  In the light of this 

statement,  decentralization is important as it: (Any four) 

(i) Develops initiative amongst subordinates. 

(ii) Develops managerial talent for the future. 

(iii) Leads to quick decision making. 

(iv) Gives relief to top management. 

(v) Facilitates growth. 

(vi) Facilitates better control. 

(If an examinee has not given the headings as above but 

has given the correct explanation, full credit should be 

given) 

 

for explanation 

= 1 ½ x 4 

= 

6marks 

 

 

 

 

 

 

OR 

 

½ mark for 

heading  

+ 1 mark  

for explanation 

= 1 ½ x 4 

= 

6marks 

 

 

 

28 30 30 Q. ‘The functions and performance of the supervisor are 

vital to an organisation because he is directly related 

with the workers whereas other managers have no direct 

touch with bottom level workers.’ In the light of this 

statement, explain any four functions of a supervisor. 

Ans. The functions and performance of the supervisor are 

vital to an organisation because he: (Any four) 

(i) Maintains day to day contact. 

(ii) Links the workers and the management. 

(iii) Helps in maintaining group unity. 

(iv) Ensures performance of work. 

(v) Provides on the job training. 

(vi) Builds high morale amongst the workers. 

(vii) Gives feedback. 

(If an examinee has not given the headings as above but 

has given the correct explanation, no marks should be 

deducted) 

 

½ mark for 

heading  

+  

1 mark  

for explanation 

= 1 ½ x 4 

= 

6marks 

 

 

 

 

 

 

OR 

 

QB365 - Question Bank Software 

QB365 - Question Bank Software 



33 

 

 

OR 

 

Q.  Describe personal barriers to effective 

communication. 

Ans. Personal barriers to effective communication are: 

(i) Fear of challenge to authority. 

(ii) Lack of confidence of superior on his subordinates. 

(iii) Unwillingness to communicate. 

(iv) Lack of proper incentives. 

 

 

½ mark for 

each heading 

+ 

1 mark for 

each 

explanation 

= 

1 ½ x 4 

= 

6 marks 

 

 

QB365 - Question Bank Software 

QB365 - Question Bank Software 


	Outside-Set-3.pdf (p.1-8)
	Outside-Marking-Scheme.pdf (p.9-19)



